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image7.jpg
Correct response

‘Additional guidance

Draws a rectangle of area 12

@
. 1by12
= 2by6
« 3byd
. 15by8

Draws a rectangle of area 12, with different
dimensions from one credited in part (a)

Draws a triangle of area 6

e Basc 5 prpndicula hight 2
= Base 4, perpendicular height 3
= Base S, perpendicular height 2.4

1 Lines not ruled or accurate
Accept provided the pupil's intention is clear

 Edge of grid used as edge of shape
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Magic square

atleast three correct values

Gives all three correct values, ie
6,b=4,c=9

Gives the correct value for b or
the correct value for ¢

Additional guidance

x Incomplete processing
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Correct response Additional guidance
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3, with no evidence of an incorrect method

Shows the value 12

or

Forms a correct equation in w

® 6x442=20(error), 20+ 4=5

x Conceptual error

e
“6x4=24,24:4=6
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Magic square

Correct response Additional guidance

Gives allsix correct values, ie  Incomplete processing

13 (12

10

Gives at least three correct values

Gives all three correct values, ie
a=16,b=4,c=9

Gives the correct value for b or
the correct value for ¢
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Functions

Gives both correct values, ie

Gives both correct values, ie

10

Additional guidance

 Incomplete processing
eg, for pare (a)

eg, for pare (b)

4

2042

x Incorrect notation
for part (a)

4

18

Gives two different correct functions
Examples of correct functions are shown below

Gives one correct function

1 Uncomventional notation for Vi

o
.

Condone

tnoas
Accept as a correct function, provided
nothing that could be an incorrect operation
is shown
eg, do not accept
noes

 For 2m, same functions written with
different symbols or same functions but

unsimplified
= n
‘;lnd nes
on x

% and nx02

*n=20 and n 10430
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Rearrange

Rearranges correctly
@®
 ¥-2

Shows or implies a correct first step of
algebraic manipulation
@

“2ers¥

. 104 5=w
® St=w-10
e w=1045

‘Additional guidance

/ For 2m, negative denominator

t For 2m, use of division sign

Accept provided there is no ambiguity
e, accept

“wes-2

Cw-10)+5

eg, do not accept

“w-1045
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] Same area
[ Comect response ‘Additional guidance
ala| |m]s

2m

3, with no cvidence of an incorrect method

Shows the value 12

Forms a correct equation in w

@
1

e dw=tex

" dxwe3xd

Shows a correct method with not mare than
‘one computational error

@
" 6xds244
x4
)
@ 6x4+2=20(emon, 2044

“ 62

X Conceptual error
@
“Ex4=24,244426
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Indicate a correct value, with appropriate
unit, with a correct method shown

£y
. 80416, Sml

o 2024 0,005 ltres

o)

“The only error is to omit units or (o give
incorrect units

or

implies correct substitution and understanding
of lgbesicnotaion fo bosh maliplcaton
and division

@
* 204+ 16, answer SOmi

& 204 % 100 (error), 12+ 4 = 16

100+ 16 = 6.25m

204

T

 Answer of 10.6(..)ml or 10.7m or 1l
{only error i to omit necessary brackets
when processing)

. (error in numerator) = 0.5l

An answer of Sml,or cquivalen, s given with
o working

12 (years)

Shows a correct equation with the values 15,
and 30 correctly substituted

AT
oy

. 150245 =305

P
wy

‘Shows the correct answer of 12 embedded, even

ifan incorrect value is chosen subsequently as
the answer
30x12

B amwer 15

@
© 2044 5ml

1 Units other than mi are given
Accept provided the pupil shows such 3
change is intended and the change has been
carred out correctly

e, accept
<20 x4 4 16 = 50, answer 0.05 ltres

1 Use of 2 or otber symbol for .
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Completing

Correct response

Additional guidance

Gives a correct expression in x with a value of
48 when xis §
g

.6

. x4 40

. 324

t For the first and second marks, incomplete
processing
Penalise only the first occurrence
eg, for the first and second marks
“axs
4844
Mark as 0, 1

+ For the third mark, unconventional notation
Condone

for the third mark accept

“6xx

a6
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[rer & question

Equations

Correct response

‘Addiional gudance |

sfa-s[s- 7|
1[14]

m| s

t Incorvect notation
e, for the fiest mark
s
Penalse only the first occurrence

t Incomplete processing
e, for the first mark

L1

3

Penalise only the first occurrence
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Completing

Correct response Additional guidance

1 For the first and second marks, incomplete
processing
Penalise only the first occurrence
eg, for the first and second marks
“4xs
4844
Mark as 0, 1

Gives a correct expression in x with a value of | 1 For the third mark, unconventional notation
48 when xis 8 Condone
e eg, for the third mark accept

. 6o “6xx

a xed0 .6

. a2
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Equations

‘Additional guidance

Incornect notation

g for the first mark
. xS

Penalise only the first occurrence

Incomplete processing
eg, for the first mark
15

3

Penalise only the first occurrence
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Refer to the new algebra general guidance

Solving an equation

Correct response

Additional guidance

2
2 or cquivalent

Shows or implies a correct first step of
algebraic manipulation that either

reduces the number of terms or

collects variables on one side of the equation
and numbers on the other

g

2
100 - 75

x For 2m, 25 seen but with incorrect further

working
e
« B

t Method used is trial and improvement

fote that no partial credit can be given
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ier & Question|

] Refer to the new algebra general guidance Solutions
Correct response. ‘Additional guidance
1m | Indicates No and gives a correct explanation
“The most common correct explanations:
Show that the two sides of the cquation are not |  Minimally acceptable explanation
equal wheny = 17
L) * 187 # 255
® 14x17 - 51= 187, but *14x17-51#1874+4x17
187+ 4172255 + 18 x17 - 51 187 o you don't need 4y
o 4y~ S1=187,s0it will go over whenyou|  * 14y~ S1=18740
add the 4y
« The equation simplifes to 10y = 238, . '
e aquacion sl ®Icomplt o incomet cplnation
* When you substiute y = 17 into both
sides, you get different answers

Show the correct solution or show a correct
method for solving the equation that
demonstrates that the solution cannot be 17

e

o ly-S1=18744y
10y=238
y=238

. (187451 +10217

Show or imply that y = 17 is a correct solution
to 14y — 51 =187

g
= 14 17— 51 = 187, but there is another
4% 17 0 add to the 187 on the other side

< 14x17-51=187
© 14 %17 - 51= 187, but
187 + 4 x 17 = 225 (error)

 Minimally acceptable explanation
e

* 23.8 or equivalent seen
< 10y=238,50y 17

 Minimally acceptable explanation
s

* Ify= 17, 14y - 51 = 187, without + 4y
« The left-hand side is 187, but the other
side is 187 plus something

7, 14y - 51=187





image22.jpg
[Ter 8 Question|
5|

Refer to the new algebra general guidance

Solutions (cont)

Correct response
Indicates No and gives a correct explanation

‘The most common correct explanations:

Show that the two sides of the equation cannot

be equal when y = 17

N

= 3x 17: = 867, not 2601

o2

867, but 17 x 17 = 289

= Ify =20, 3)* = 1200 which is stll smaller
than 2601, s0 y can't be 17

= 17 ends in 2 9, then this number x 3 ends
ina7,s0 it can't be 2601

Show the correct solution or show a correct
method for solving the equation that
demonstrates that the solution cannot be 17

Address the misconception

» Square 17 first, then x 3 and your answer is
much smaller than 2601

Additional guidance

367
* 3% 289 #2601
= 867, but 17 = 867

+ 3x17:%2601

+ When you substitute y = 17 into the
equation, you don't get 2601
* 317 x 17 s far too small to be 2601

/ Minimally acceptable explanation
a9

Nty
3

* Only positive solution shown
Condone
eg, accept as minimal
<105 29(.)

 Incorrect explanation
e

o

¥

1300.5
6.(...)

/ Minimally acceptable explanation

®
* (3 x17) = 2601
+ 17: then x 3 # 2601
+ They've squared 3y, not just y
+ You do the power, then multiply
+ True for (3
« 9y = 2601

* Incomplete explanation
©
3x17'22601
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t Incorrect notation
eg, as an answer for the first mark
“kexd
Penalise only the first occurrence

! Incomplete processing
eg, a5 an answer for the first mark

k=%
a3
Penalise only the first occurrence
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Values

Correct response

‘Additional guidance

Gives ll three correct values i the correct
positions, ic 18, 30 and 100

Gives two correct values in the correct positions.

Shows al three values 18, 30 and 100, even if
their positions are incorrect
Shows correct substitutions, interpreting the

addition, multplication and squaring correctly,
but fails 10 process or processes incorrectly

@
@ 8410,3%10,10x 10 seen

+ Incorrect notation
eg, for the value of § + &
18
Withhold 1 mark only for the first
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Solving

Correct response Additional guidance

4 t Incorrect notation

eg, as an answer for the first mark
“k=x4

Penalise only the first occurrence

t Incomplete processing
=) eg, as an answer for the first mark

ok

Penalise only the first occurrence
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[rier & queston| o :
o perations
[16[103 Correct response

Additional guidance

2m| Gives all four correct operations, ie

m| Gives any two correct operations
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[rier & Question

S Finding y
17)11]a Correct response Additional guidance

1
2m| 6% or cquivalent

1m | Shows or implies a correct first step of
algebraic manipulaion that cither

reduces the number of terms or

collects unknowns on one side of the equation
and numbers on the other

cg
. 14=2p41
a3y 13=5y

. ld-1=5y-3y
.13
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Values

Correct response

Additional guidance

Gives all three correct values in the correct
posiions, i 18, 30 and 100

Gives two correct values in the correct positions

Shows allthree values 18, 30 and 100, even if
their positions are incorrect

Shows correct substitutions, interpreting the

addition, multiplication and squaring correctly,
but fails to process o processes incorrectly

8
« 8410,3x 10,10 x 10 seen

t Incorrect notation
eg, for the value of 8 +
* 18k
‘Withhold 1 mark only for the first
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Balancing

Correct response

Additional guidance

t Answers to parts (a) and (b) transposed but
othenvise correct
Mark as 0, 1




image30.jpg
s cveston
x=8
[ESfalsles
16[s [ 1 Correct response ‘Additional guidance
afafa] [1m] mdicares onty 40,ic
v
b[bfb[ [1m] idicaces only 16, ic
v

clefe| [1m] tndicates only 64, ic
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Positive and negative

Correct response. Additional guidance
im| 18
im| 2

efefe] [1m] mdicates the equation v ¢ ie
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aand b

Correct response Additional guidance
Gives a pair of numbers for a and b, such that | * Values embedded

beasd @

o vaes=9

a=s  b=9
s a=l5 b=5S

caz4+5  b=9

Gives a pair of numbers for a and b, such that
b=a+4, different from any previously credited
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Tier & Question

[-5]a6[s-7]6 8]

Solving

[27[20[11]

Correct response

Additional guidance

tm| 14

m| 13

t Incorrect notation
eg, as an answer for the first mark
“x=xl4
Penalise only the first occurrence

t Incomplete processing
eg, as an answer for the first mark
448
£7)
Penalise only the first occurrence
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Tier s Queston

|-

16[9 1 Correct response

‘Additional guidance

afafa| [1m] idicares only 40, ic

b{b[b| [1m] mmdicates only 16, ic

clefe| [tm] indicates only 64, ic
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Positive and negative

Additional guidance

Indicates the equation y= ¢, ie

e D
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Equation

Correct response

‘Additional guidance

I
1 o equivalent

Shows or implies a correct first step of algebraic
‘manipulation that removes the brackets

e
2x2me2x5=12
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Additional guidance

im| 245

 Use of multiplication sign in simplified

expressions
e, for the first mark
*8xke7

x Partially simplified expressions
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Gives a pair of numbers for a and b, such that
bravd
@

“a=s  b=9

wa=lS b=Ss

Gives a pair of numbers for  and b, such that
b=a + 4, different from any previously credited
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Tir 8 Queston

Solving
&
Correct response Additional guidance

Im| 14 Incorrect notation

g, as an answer for the first mark

xax14

Penalise only the first occurrence

imj 13

Incomplete processing
eg, as an answer for the first mark
445

32

Penalise only the first occurrence
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Tie & Question

Completing rules

Correct response

Additional guidance

Gives two correct values in the correct order,
and a correct expression in x

Gives two correct values in the correct order,
and a correct expression in x

L3
= 4,3,40-3
- 2,221,221
= x3,0-3

Gives two correct values in the correct order,
and a correct expression in x
e

s 2a5en

" 05,5204 5 or
. 19049

a3

For the first mark, given example repeated

Unconventional notation
eg.forxs9

Clxxe9
Condone
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Relationships
Additional guidance
1 Incomplete processing
g, for the first mark
“10-1
g, for the second mark
. 10"
Penalise only the first occurrence
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Values

15

5% or equivalent

Indicates that e > 5
e
= Ithas to be higher than §
= Any number over 5

 Minimally acceptable indication

Y
“>s
« Above §

More than half of 10

t Range includes 5
@
« 5 orover
Condone

* Negative values of f excluded
=
“S<es10
« Between 5 and 10

x Incomrect indication
@
+ ecanbe6, 7,8 and s0 0n
+ e must be 5.1 or more

* Incomplete indication
e
e=10-1
“sse
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Tir & Question

Substituting
Correct response. Additional guidance
2m | Completes all three statements correctly v Negatives, fractions or decimals

e

colLuamuNaanse

or
1m | Completes two statements correctly

t Decimal answers rounded or truncated
Accept answers rounded or truncated to two.
decimal places or better

x Incomplete processing

eg, for the last part
g
33
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Tier & Question

Solving

Additional guidance

im| 3

im| -5

! Incormect notation

eg, s an answer for the first mark
“x3
3x

Penalise only the first occurrence

! Incomplete processing

g, as an answer for the first mark
o

5
Penalise only the first ocy
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T8 uesion
Values
a m| 6 ! Incomplete processing
Penalise only the first occurrence
eg, for parts (a) and (b)
“9-3
b|b|b im| -2 4-6

Mark 2s 0, 1
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Tir 8 Quesion

Substituting

Correct response

Additional guidance

Completes all three statements correctly

ISR A A

se2

Completes two statements correctly

V/ Negatives, fractions or decimals

t Decimal answers rounded or truncated
Accept answers rounded or truncated to two
decimal places or better

x Incomplete processing
eg, for the last part

5
L3

.68
63
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Solving

[25] 1 Correct response Additional guidance

e t Incorrect notation
g, as an answer for the first mark

ox3

3
tm -5 Penalise only the first occurrence

Incomplete processing
eg, a5 an answer for the first mark
W5
5
Penalise only the first occurrence
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Solving

‘Additional guidance

1 A
25 or equivalent

i
41 or cquivalent

Shows or implies a correct first step of algebraic
‘manipulation that either reduces the number of
terms or collects variables on one side of the
equation and numbers on the other

)

1 Throughout the question, incorrect notation
eg, as an answer for the first mark
< k=x2
‘Withhold one mark only for the first
occurrence

! Method used is trial and improvement
Note that no partial credit can be given
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Tior & Question

Equation

Additional guidance

Shows or implies a correct first step of algebraic |t Method used is trial and improvement
manipulation that either reduces the number of Note that no partial credit can be given

erms or collects unknowns on one side of the
equation and numbers on the other
@

2ax-12

1242

6oxa-6

-x=-6-6

124x=0
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Values

Correct response ‘Additional guidance

6 t Incomplete processing
Penalise only the first occurrence
eg, for parts (a) and (b)

“9-3
2 v
Mark as 0, 1
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Value of x

Correct response

Additional guidance

Indicates ..

.one particular number, ie

v/

Indicates

any number at all, ie
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Perimeters

Correct response ‘Additional guidance
Unsimplified expression or uncomventional
otation

e
L4218

tm| 7a43

0
c(2xa418)26
Condone

5 "

e
“ 4201846

1m| 24 1 Units given
Ignore, even if incorrect for 3 perimeter
eg. accept
« 24cm
* 24em’

x Incomplete processing
s
“4x6
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III e p——

‘Shows or imples that a = 5 and shows the intention
1o substitte th valus into the second equation
3

e 5+7=10+h

«b=12-10

Shows a complete correct methodwithnotmore X Conceptual emor
than one computations’ eror o
S ca=11v6=17
o b=11-6+7-10
© a=11-6=6femor)
8+7=10+b
b=3
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Finding x and y
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Additional guidance.
X Incomplete processing
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x=10 and y = 39 or squivalent
1m  Givesy=39 or equivaent
o
Gives the two values transposed, ie
x=39 or equivalent andy = 10
o
Shows a complate corract method with not more:
than one computations! error
e
* x=10,10-61= 49 (error)
o 4x61=244,40-244 = 165 (emor)
166+4=415,415+61 = 1025

o 40+ 4= 20(emor)
2-61=139
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III Sk camect mpe

“l@

Gives the vaiue 3, with no evidenc of an incomrect
method

‘Shows or imples a comrect equation for the bags.

and shows or impbes 3 corrct frst step of slgebracc

maripus ton tha ethe recuces the rumber
of terms or colects varbies on one side of the
equation and numbers on the ther
.
Ceprrmayer
y-ty=7-1
o 271
. bp-bmdy
-

s
Gives an answer of 4...)

Shows or mphes a correct nequaly using the
expressions for the bags

)

ak>ke12
. u>12
. k>4

Counters

1 Method used is trial and improvement
Note that no parta credit can be gven

1 Method used is trial and improvement
Note thatno partia credit can be grven
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Completes two rules correctly

Shape rules
Additional guidance

1 Throughout the question, unconventional
notation

g, forthe frst e
CINe
Condone

| Throughout the question, words used
instead of letters.
g fo the second rule
«"4= Height x2
Penase only the first occunence

1 For the second rule, N + 1 used
Accept provided there s no ambiguty
og. accept
© Wenx2
g, do ot accept
e Ne1x2

' For the third rule, 2H used
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Ages

Correct response.

Additional guidance

Gives complete correct interpretations for both
Barry and Carol, by referring to both the
following aspects:

‘The given context of age

‘The meaning of the given numbers and
operations

eg, for Barry
= One year younger (than Tina)
= Aged one less (than T)

eg, for Carol
= Twice as old (as T)
= Double her age
« 2 Tina years old

Gives a complete correct interpretation for
cither Barry o Carol by referring to both
aspects

or

Gives interpretations for both Barry and Carol
that give the meaning of the given numbers and
operations but contain no reference t the
given context of age
Y
= For Barry, Tina minus 1
For Carol, Twice Tina

t Incomplete interpretation
Do not accept as complete an interpretation
that lacks reference to one of the two aspects
eg, for Barry

« Tina minus 1 [no reference to the given
context]

« Younger [no reference to the ~1]

* One year different [ambiguous reference
to subtraction]

eg, for Carol

« Twice Tina [no reference to the given
context]

* Much older than Tina [no reference to
the x 2]

* 2 Tina's age [no reference to the
multiplication]

t Interpretation using comparison with age of
person other than Tina
Accept provided the interpretation is
unambiguous
eg, accept as complete and correct for Barry
* Four years younger than Ann
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ab
Additional guidance.

1 Unsimplified expression or unconventional
notation

©g.inpart (a)
“bebeb-
* ta+ib
Condone

X Responses given are not algebraic
‘e, do not accept
© 342605
© 2x2+2x2for8

1 Follow-through
Accept follow-through as 7 — thair value for a
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Indicates only 10—,
Indicates only 2 ie

Gives avalue such thaty < 1.5

Largest value
‘Additional guidance
1 Correct expression indicated but incorroct

values shown
Condone

 Fractions, decimals and negative values
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T Crmsin

Equation
Mark Correct response Additional guidance





image60.jpg
Values

1 Range of answers given
Condone
g, accept
* yis loss than or equal to 4
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Ny Ringing expressions
2617 8 Mark Correct response Additional guidance

alala im indicates2n+2,ie

==

m  Indicates afn + 2)fo

- -

bbb
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Tor  Cumstion
v
MarkCorrect response
lll m 4

or
m

2

Shows 2 comact squation
)

o« antan10

e memtn+2en+2-100
. an=9

or
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